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1) (1) 2 + 2 x + + 2x54
1
+ 3= 2 + 4

-
12) True Form : 100000000
F : 1

(3) y = (xk(0)((x >76)
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1)

·
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Cout = aCin + blin + ab

(2)

A Cout-

2 Cont
HA

B S-

Cin ↓ Sum



15 (11 CPU time = <PIx]c/f
= 30 x 1000/3x/09
= 10-5s

12 x 105 = CP2' x 1000/4x109
=> CPI' = 20

#(1 1 + 10% x10 = 2ns

12) Let cache miss rate be X

1 + X . 10 = 1 . 5

= X = 59
the cache miss rate is 5%

13) before : Let hit time be X

after : Let hit
time bey

y + 10% -y = X + 20%. 10x

= 2y =
3X

=> y = 1 . 5X

the hit time should be less
than 1 .5 times

that was before ,


